Power level II

1. The LOW Landing phase will divide up the power to the subsystems.
a. The LOW will require no more then 100 We average during the Landing phase

b. The LOW Thermal subsystem will require no more then 40 We average during the Landing phase.

c. The LOW GN&C subsystem will require no more then 20 We average during the Landing phase.

d. The LOW POWER subsystem will require no more then 10 We average during the Landing phase.

e. The LOW CD&H subsystem will require no more then 2 We average during the Landing phase.

f. The LOW Communications subsystem will require no more then 2 We average during the Landing phase.

g. The LOW Propulsion subsystem will require no more then 5 We average during the Landing phase.

h. The LOW Mobility subsystem will require no more then 4 We average during the Landing phase.

i. The LOW Mechanisms subsystem will require no more then 4 We average during the Landing phase.

j. The LOW Payload subsystem will require no more then 2 We average during the Landing phase.

k. The LOW SRV subsystem will require no more then 1 We average during the Landing phase.

2. The LOW Initializing phase will divide up the power to the subsystems

a. The LOW will require no more then 150 We average during the Initializing phase.

b. The LOW Thermal subsystem will require no more then 40 We average during the Initializing phase.

c. The LOW GN&C subsystem will require no more then 2 We average during the Initializing phase.

d. The LOW Power subsystem will require no more then 10 We average during the Initializing phase.

e. The LOW CD&H subsystem will require no more then 20 We average during the Initializing phase.

f. The LOW Communications subsystem will require no more then 30 We average during the Initializing phase.

g. The LOW Mobility subsystem will require no more then 10 We average during the Initializing phase.

h. The LOW Mechanisms subsystem will require no more then 2 We average during the Initializing phase.

i. The LOW Payload subsystem will require no more then 2 We average during the Initializing phase.

j. The LOW SRV subsystem will require no more then 1 We average during the Initializing phase.
3. The LOW Driving phase will divide up the power to the subsystems.

a. The LOW Will require no more then 200 We average during the Driving phase

b. The LOW Thermal subsystem will require no more then 40 We average during the Driving phase.

c. The LOW GN&C subsystem will require no more then 20 We average during the Driving phase.

d. The LOW Power subsystem will require no more then 10 We average during the Driving phase.

e. The LOW CD&H subsystem will require no more then 5 We average during the Driving phase.

f. The LOW Communications subsystem will require no more then 2 We average during the Driving phase.

g. The LOW Mobility subsystem will require no more then 100 We average during the Driving phase.

h. The LOW mechanisms subsystem will require no more then 2 We average during the Driving phase.

i. The LOW Payload subsystem will require no more then 2 We average during the Driving phase.

j. The LOW SRV subsystem will require no more then 1 We average during the Driving phase.

4. The LOW Science phase will divide up the power to the subsystems.

a. The LOW Will require no more then 200 We average during the Science phase

b. The LOW Thermal subsystem will require no more then 40 We average during the Science phase.

c. The LOW GN&C subsystem will require no more then 20 We average during the Science phase.

d. The LOW Power subsystem will require no more then 10 We average during the Science phase.

e. The LOW CD&H subsystem will require no more then 20 We average during the Science phase.

f. The LOW Communications subsystem will require no more then 2 We average during the Science phase.

g. The LOW Mobility subsystem will require no more then 10 We average during the Science phase.

h. The LOW Mechanisms subsystem will require no more then 1 We average during the Science phase.

i. The LOW Payload subsystem will require no more then 50 We average during the Science phase.

j. The LOW SRV subsystem will require no more then 1 We average during the Science phase.

5. The LOW Communications phase will divide up the power to the subsystems.

a. The LOW will require no more then 200 We average during the Communications.

b. The LOW Thermal subsystem will require no more then 40 We average during the Communications phase.

c. The LOW GN&C subsystem will require no more then 10 We average during the Communications phase.

d. The LOW Power subsystem will require no more then 10 We average during the Communications phase.

e. The LOW Thermal subsystem will require no more then 40 We average during the Communications phase.

f. The LOW CD&H subsystem will require no more then 20 We average during the Communications phase.

g. The LOW Communications subsystem will require no more then 30 We average during the Communications phase.

h. The LOW Mobility subsystem will require no more then 10 We average during the Communications phase.

i. The LOW Mechanisms subsystem will require no more then 2 We average during the Communications phase.

j. The LOW payload subsystem will require no more then 2 We average during the Communications phase.

k. The LOW SRV subsystem will require no more then 1 We average during the Communications phase.

6. The LOW Sleep phase will divide up the power to the subsystems.

a. The LOW will require no more then 20 We average during the Sleep phase.

b. The LOW Thermal subsystem will require no more then 10 We average during the Sleep phase.

c. The LOW GN&C subsystem will require no more then 1 We average during the Sleep phase.

d. The LOW Power subsystem will require no more then 1 We average during the Sleep phase.

e. The LOW CD&H subsystem will require no more then 1 We average during the Sleep phase.

f. The LOW Communications subsystem will require no more then 1 We average during the Sleep phase.

g. The LOW Mobility subsystem will require 0 We average during the Sleep phase.

h. The LOW Mechanisms subsystem will require no more then 1 We average during the Sleep phase.

i. The LOW Payload subsystem will require no more then 1 We average during the Sleep phase.

j. The LOW SRV subsystem will require no more then 1 We average during the Sleep phase.

7. The LOW EoM & SRV phase will divide up the power to the subsystems.
a. The LOW will require no more then 100 We average during the EoM & SRV phase.

b. The LOW Thermal subsystem will require no more then 2 We average during the EoM & SRV phase.

c. The LOW GN&C subsystem will require no more then 10 We average during the E0M & SRV phase.

d. The LOW Power subsystem will require no more then 10 We average during the E0M & SRV phase.

e. The LOW CD&H subsystem will require no more then 40 We average during the E0M & SRV phase.

f. The LOW Communications subsystem will require no more then 2 We average during the E0M & SRV phase.

g. The LOW Mobility subsystem will require 10 We average during the E0M & SRV phase.

h. The LOW Mechanisms subsystem will require no more then 2 We average during the E0M & SRV phase.

i. The LOW Payload subsystem will require no more then 10 We average during the E0M & SRV phase.

j. The LOW SRV subsystem will require no more then 10 We average during the E0M & SRV phase.

8. The LOW will require Solar cells
a. The LOW Solar Cell’s mass will be no more the 20 kg

b. The LOW Solar Cells’s Area will be no more the 5m2 and no less then 3m2
c. The LOW Solar Cells’s worst case output must be not below 455 W

9. The LOW will require 24 Lithium-Ion batteries

a. The LOW Lithium-Ion battery’s mass total not be more then 240 kg

i. The LOW Lithium-Ion battery’s mass each not be more the 10 kg

b. The LOW Lithium-Ion battery’s capacity total not be less then 48 KWe-hr
i. The LOW Lithium-Ion battery’s capacity each not be less then 2 kWe-hr

10. The LOW will require a PCS.
a. The LOW PCS mass is required to be no more then 10 kg.

b. The LOW PCS power usage is to be no more then 7 We.

11. The LOW will require Teflon insulted power cables.

a. The LOW power cables will require to transmit up to 30 V.

b. The LOW power cables total length is required to be no more then 20 m.

c. The LOW power cables total mass is required to be no more then 15 kg.

